oA a2 + 3x2 - x + 2y - 32 xo] Toto] Aoz s,
xoll gk 240k A4S WA,
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2.

oFeHA] 2xy? +x2y—3x+x3—1 o it o} AW 5 2

@ x o gt A o)t

@ y ofl thgt o] Aot

@ x? O] A=y oIt

@ x O] A= 2y? - 3 ]tk
® yol o -1 o|t}.
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3.

oFA] Bxy — yx? + 2x3 + 2yz2 o o

® xol A% syoltt,
@ x* 9] AgE= —yoltt.
@ xof tgt 3xp2lolot,
@ xofl thet 42 2yz? ot}

® v, zol digt 222 o]t}




@ x2y5

@ —-xy°

@ —xOyt

@ xP

@ _x4y5
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7. (x-2y-3)°S QoNsk ol st A0 2 Hajelr?

D x? + 4y? + 9z% — 4xy + 12yz — 62x
@ x% —4xy+4y? — 9722 + 12y7 — 6zx
® x% - (4y + 62)x + 4y? + 12yz + 972
@ 4y* +12yz+ 922 + (—4y - 67)x + x2

® 922 + 4y? + x?



8. (a-b-c)?E & ANt AL

@ a® + b? + ¢ + 2ab + 2bc + 2ca
@ a®+ b? + ¢ - 2ab — 2bc — 2ca
® a?-b% - % —2ab - 2bc - 2ca

@ a® + b% + ¢ - 2ab + 2bc — 2ca

B a2 =b%2=0c24+9ab - 2bc — 2ca



O (x+1)(x-x+1)=x3+1
@ (a+2b-3c)* = a2 + 4b* + 9¢2 + 4ab — 12bc — 6ac
® (x+2)(xP-2x+4)=x>+38

(xQ—xy+y2) (x2+xy—|—y2) =x4—x2y2+y4

@
® (x-1) (x+1)2=xt-2x2+1



